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Divisibility Rules (farstsarerar =)

Divisibility by 2 :- Unit place 1s 0 or even number
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Divisibility Rules (faroTsarerar =)

Divisibility by 3 :- Sum of the digits 1s divisible by 3.
3 fI=Idr ;- TR R IAT 3 | favT=T &




Divisibility Rules (Fr¥Taehar 9 )

Divisibility by 9 :- Sum of the digits is divisible by 9.
0 Y fovsadr .- IR H AT 9 9 f[av=a B




Divisibility Rules (Fr¥Taehar 9 )

Divisibility by 4 :- Last two digit of the number 1s O or both
divisible by 4.
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Divisibility Rules (Fr¥Taehar 9 )

Divisibility by 8 :- Last three digit of the number 1s O or
divisible by 8.
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Divisibility Rules (Fr¥Taehar 9 )

Divisibility by 11 :- Difference between the sum of the digit at
even places and at odd places 1s zero or divisible by 11.
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If a number 5x423y 1s completely divisible by 88 then find the value of 5x - 8y.
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1. 16

3. 32

4. 40



Find the four digit largest number which when divided by 30, 18 and 20 leaves
remainder 3 in each case.
T 3ehT hl 99 TS G&AT J1d shiTST8 918 30, 18 3T 20 ¥ favrisid v 9T Icdsh
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What 1s the sum of the digits of the smallest four digit number which is exactly
divisible by 8, 10, 12, 18 and 247
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If 31x5 1s a multiple of 9, where x 1s a digit, then the value of x will be
afd 31x5, 9 T VST &, ST x T 3{eh 8, dl x 1 {F SA:

1. 1

2.3

3. 6



NUMBER OF ZEROES



Zeroes are formed by a combination of 2 X 5. Hence , the number of
zeroes will depend on the number of pairs of 2°s and 5’s that can be

formed
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How many zero will be there counting from the right side when will solve the
following expression 24 x 32 x 17 x 23 x 475
et T Oh\l & LA G 318 AL H feha I BII-
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How many zero will be there counting from the right side when will solve the
following expression 25 x 32 x 625 x 135

TR I8 oh &1 hid EHE 313 SN § fohd I Bl
25 x 32 x 625 x 135
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How many zero will be there counting from the right side when will solve the
following expression 5 x 10 x 15 X 20 X ------ x 50

fRcTRad 98 i 5 ot OHY 313 3T § ford ST 8-

5% 10 x15%20 X ------ x 50
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Number of Zeroes of n!
- ) (n ) (w2) T /
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Number of zeroes 52 =3 =~ = 5 T
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Always Numerator 1s greater than Denominator




Find the number of zeros at the end of 100 !

100 ! H ST shl €T 1 hIfSHRAN
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1. 25
2. 24
3. 21

4. 22



Find the number of zeros at the end of 700 !

700 | § [T 3T HEAT J1d shiforI)




Find the number of zeros at the end of 1000 !

1000 ! H ST =T HEAT [T STl

1. 249
2. 248
3. 240
4. 250



UNIT DIGIT

$eRTS ohT TTT



Cyclicity
9 =@z




UNIT DIGIT (ShTE hT T )
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UNIT DIGIT (3hTE hT T )

The last digit (or unit digits) of 0 ,1,5 and 6 always the same 1rrespective
of their powers raised on them .
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(60)1° = |unit digit = 0
(121)01 = | |Unit digit =1
(85)123 = | |Unit digit =5
(76)4Y = | |Unit digit =6




What is the units digit of the number 327
SIS o1 T 1A ohiterd 36
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Whilt is the units digit of the number 5787
RIS ohl LA JTd il 57834




What is the units digit of the number 348%?
RIS ohl TA JTd hiTTT 34888




What is the units digit of the number 3°x47x63x74x8%x95?
SoRTS ohT LT JTd ShiToT 30x47x63x74x82x 93
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What is the units digit of the number (2137)7%4?
SRS ohl T 1A Shiterd (2137)75




HW....What 1s the units digit of the number 584 x 328 x 547 x 613?
SohTS T TATH JTA chITST 584 x 328 x 547 x 613
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